(1). What is the tool used to form the final shape of rivet head? | ﬁaﬂ'%@fiﬂ 3ifeH PR
T & fere frw Sumwor &1 Sy favan wiman 82

(A) Dolly | STel

(B) rift | f§Te

(C) Rivetset | Rdede
(D) Rivet snap | e @Y

Correct Answer : D \’
(2). What is the melting temperature range for soft soId@W@@ﬁ‘T%m
fOrerem &1 aTUHTE IS | R?

(A) 420°C-600°C ,b®
(B) Above 600°C Q:\*
(C) Below 420°C

(D) 600°C - 800°C

Correct Answer : C E$

(3). Which rivet is used in heavy structural work? | Y E=THS i | o fae &1
SUGRT f5aT SITar 82

(A) Pan head rivet | T3S f¥de

(B) Snap head rivet | @U%‘é‘iﬁa?

(C) Counter sunk rivet | HIIcR AP fYde
(D) Conical head rivet | BIfTHd g8 Rde

Correct Answer : A



(4). What will be the cause if handy soldering copper bit is used on light gauges of metal? |

gfe UTg & gob Aol WR Flaursre Qs SIuR foe &1 IuART fHar se af sror R
ghm?

(A) Metal to be buckled | §Hd T & T oTg
(B) Metal to be sheared | ﬁ?‘ﬁa?m LI

(C) Metal to be wrinkled | U@Wgﬁaﬁm
(D) Metal to be springed back | maﬁamf%m%mﬁrm%

Correct Answer : A

(5). What is the reason for faulty riveting? | Wﬁaﬁ% T’ T %?
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(A) Burrs between plates | wiel o3
(B) Too little allowance give U AT fear SIrar g

(C) Improper joining of ph$| wIcl BI arﬂf%raqsw
(D) Too much allowance given | Igd SATGT SATSH T ST 8

Correct Answer : C

(6). Where sweat soldering process is applied? | @?mmwmmw
a2

(A) Rework of ornaments | GIT"-El'Uﬁa‘T[gq Caui

(B) Electrical soldering work | ﬁ@'ﬁ’d?ﬁﬁﬁ'ﬂw

(C) Body repairing work shops | T &) AR¥Id gy
(D) Joining of tool and tool bits | ¢ Gﬁ?ﬁﬁﬁﬁaﬁﬁﬁﬁ



Correct Answer : C

(7). Which inorganic flux is used for soldering stainless steel metal? | g |d %I'I_g[ﬁ

Hies 1 & e fors sreTd = v &1 IuahT T omar 82
(A) Muriatic acid | gfvarfe® TRrs

(B) Sal - ammoniac | ITd - 3HIfATH

(C) Killed spirits | FRUNEH & ARAT

(D) Phosphoric acid | TPIERIN® TRTS

Correct Answer : D

(8). What is the melting point of silver alloys used as spelt@ng? | AT A Weer &
U Y IUANT B A1+ arelt aidt Ay umaﬁmn?m‘u\‘ ?

(A) 200°C - 400°C @*
(B) 100°C - 200°C o

(C) 600°C - 850°C °\$

(D) 850°C-1000°C .\\'

®
Correct Answer : C s@

(9). What is the fault in riveting? | 9 RAfeT A R AW 8?2

N

(A A A ‘ V)
SN '\4'/\\ S
(A) Burrs between plates | WA P TTHF TR
(B) Rivet head not centered | ﬁﬁf%@@mﬁqﬁ%
(C) Too much allowance given | dgd STl mﬁmm%

(D) Holes on the plate are not in line | @?Wﬁﬁ@ﬁﬂﬁqﬁ%




Correct Answer : D

(10). Name the part marked as ‘X’ in a rivet? | wﬁﬁzﬁ"x' %Wﬁﬁﬂ%—d YT 1 9TH
qddra?

™
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|
(A) Tail | ¢ é}’
(B) Body | STST

(C) Head | %_é'n' *
N

(D) Diameter | AT \\~

Correct Answer : B

e Weex &1y

(A) Silver solder | RITaR HiesR
(B) Copper solder | PTUR HITST
(C) Tin lead solder | fe=1 #its Hieex
(D) Lead solder | TS AT

Correct Answer : A

(11). Which spelter is used for, % oEnaments brazing? | GIE K] GHQ{WUﬁ AT & ﬁlﬂ'

(12). What is the cause if melting point of the solder is higher than that of the materials being
joined? | Tfe TITSR HT TP Fo aTeil AT & Ta-iP A I 8 df FTDT HRUI
FATR?



(A) Soldering will take more time | TiesiaT | 3iftre I9a @

(B) Soldering will be strong enough | @Eﬁﬂmﬁwaﬁ

(C) Soldering will not be done | mﬁaﬂm

(D) Soldering will be uniform width | s ot iﬁ:‘ﬂ_gwwa"ﬂ

Correct Answer : C

(13). How the brazing operation is prevented from atmospheric affects? | EITQTIW UHTal

A AT SHTIR BI B BT o1l 32

(A) By using spelter | TTER BT ITANT HID

(B) By using flame | Tt BT SUTNT D X,
(C) By using flux | TFISRT BT SUART HRb &
(D) By using filler rod | PR IS BT STANT FI&H &\f

Correct Answer : C ,;@

® t
(14). What is the flux used for solderin \e form of powder? | TSR & @ UISST &
FU H {5 vead &1 SUIRT ?

(A) Resin IW $
(B) Zinc chloride | Riw

(C) Hydrochloric acid | E@W@%’
(D) Ammonium chloride | mﬁﬂﬂm

Correct Answer : D

(15). What is called joining two metal parts with third that has lower melting point? | %ng%?

& gt ot R A S &) 71 Fgarar § e TaiE $9 g1 e
(A) Soldering | TSN

(B) Welding | afesT

(C) Fastening | BTG



(D) Wringing | EIRIK

Correct Answer : A

(16). What is the purpose of drift in riveting operation? | fyafdw mﬁ%ﬁﬁm
FTE?

(A) Position the rivet | f¥de &1 visizE @ @1
(B) Make metal to metal joint | HTq & T BT IS AT
(C) Align the holes to be riveted | %Wﬂﬁ%ﬁﬁ@ﬁﬂﬁm

(D) Prevent damage to rivet head | ﬂﬁzﬁ%ﬁwﬁm

Correct Answer : C \’
Q

(17). Which flux used for soldering steel? | a &t ;@ﬂ%ﬁqmmmw
frarwTaT 22 @
(A) Ammonium chloride | SFIfRH

(B) Zinc chloride | ﬁﬁ?m \Q
(C) Resin |ﬁ?

(D) Paste | U $$
N

Correct Answer : A

(18). What is the material of solder? | HITS Pt AT (HeRae) T 82
(A) Welding rod | afeSTT TS

(B) Synthetic element | Ridfer da

(C) Pure metal or alloy | wmmﬁm YTd

(D) Non metallic element | £y YTd ded

Correct Answer : C



(19). Name the riveting defect shown? | fe@Te T fRafeT Sy @71 419 Fare?
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(A) Improper joining of plates | Wl &b Glﬂﬁﬁﬁgﬁ

(B) Burrs between plates | Wl FATA TR

(C) Rivet head not centred with the shank | fraec @1 ﬁm%%wuaﬁ‘d?ﬁ%

(D) Body of the rivet not perpendicular to the plate | ﬁ%zw@&uﬂzasmqﬁ%

Correct Answer : C

&\‘.
(20). What is the tool marked as ‘X’ in riveting?@'ﬁ 'x & =0 ¥ fafga Sus<orFan
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(A) Dolly | STell

(B) Rivetset | f¥dede

(C) Fullering tool | PEATIT g
(D) Caulking tool | PITHIT g

Correct Answer : D






